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1. Accountancy Content : SSC-09
JAAL 1 (1) dMIRL Gl YRR Qvil.

(2) wddd dvilel M2 ARl sudMl qdl.

1 -3 20ta 20 aglasedl usdl Ul sSuel 10+ Gdr ML ¢ 15
(Mdsl 1.5 L)
(D) 55 AL ugla waduil [rani qy walad © 7
(21) @Aselidl (o) [a-ilell
() 2alluml (3) 23 «ls
@2) [l ugla-dl Haulel 55 © 7
(1) -isLsisdl Ul B (o) 2uBls RURL %eud &
(5) A A= (3)  -ueid RaR yeu
(3) 4uldl 2Rls A8 $4 @l @y uid el ?
(1) A AdeR (o) GuIR AdeR

(5) ousl g8 (3) el yer Rl AasR
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(4) s HaAsRML s vid eda Asouda Sy © 7

(1) GuR (o) RAs3
() [a-2Bls (3) G

B) Al A SR SAL UA& s AAS Usdl &dl ?
(1) wen W (o) sl wsid
(5) yeudls A (3) QA A

6) sl a3 HE U dl vid GRRIY 9.
(1) 2nd w3l (o) <yl 2de Ha
() e (3) Al

(7 AAmil Al -y A MM odl ]l ?
(1) Ass qawa (o) Awdl qaa
(5) 1 (3) 2% -l
) MUlas dumi Y ad AR -
(1) 3dl 9 - 2q ad
(o) 3dl ad - Brasd ad
(5) s 24 al - 2wy 2q 82
(3) s Brasd ad - - Masd w2
9 [Man deusa-dl wds-qa@i-l 4 52 8. Rad T 25,000+
sMax usy weniedl ey sia dl, d-l v sul yd ?
(1) wdle -in (o) v Bl
(5) 2lgdl lin (3) Assia
(10) e <dlasd ollg un 9§ © ?
(1) Qael -lin (o) Guir -y
() omL iy (3)  Qauerd i

(11) As3AAsRL U4 Ml M2 dUR S 2Uad] Qa-iy 2ied

(21) wdle «lin (o) QgL <id
(5) s (3) Rdlgdl -l
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(12) 6% uBL vild AU BHL 53, AR
(»1) Osluas s () &sluas adl
(5) AssBas w2 (3)  Assluas ad

(13) AdlL widleal ¥ olsqal-dl 1y T 1,000 ¥Rl vid Guial
8. ®d YURAL $4L vidid 2y 2L 7

(1) Al wud > s wud (o) sl YL v

(5) szt wgdl wud (3)  Ass wd
(14) v 2UHAEHL (AL TSl sUL HasiR ~la © 7
(1) e Ass Aael () Masdad Ass daw
(5) el Gur wi€l (3) DBrasdadl G wilel
(15) $dl AN 4o AU s8al 20 © 7
(1) uH-insl () vidiadl-il
(5) MR 2-liEsl (3)  AssAa-

(16) vildml UMl eusld (ordl vsiHl 3l <ld ealar © 7
(1) oudl 2wo0 aledl () ouslali-il dsiad
(5) oudl »uom @ o (3) ML dslad

A7) s A¥WY 55-58 Ad duR s asn ?

(1) $5d walsll @30 (1) $5d vl a3l

(5) 2 9@ A A (8) () A (o) 6
(18) wedll 59 sl € © ?

(1) GuR (o) om1

(5) () 27 (&) 6iq (3) =3 -l
(19) -5 [Hasia GRL QUIR ML 0d 8.

(21) A (o) dqwid)

(5) A= 23 Al & (3)  »lRer

(20) WIAGs Yol GUIRelsl ved
(1) Qs a2
(o) Arsfuas
(5) dl udl ¥ W 85 QU 2y A B
(

) () @A (s) el
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2 1A 2tal 8 wadl Ugl SSuel 4l Gk vl ¢ 20
(D D2 wRenls wsel vl :
@  wIlEl A QAL () SR A ARIEIRL
(i) Al d2id 2 A3 d2ld (iv) Al A d™
2) A AqeiRl uYl wigddl A3 dHAY dvll
(1) T 10,000 As3 cidl 44l w3 sul.
2) T 5,000 Ha A3l wIlel.
(3) T 8,000 Hd A% WAl wu 4R wlel.
(4) T 2,000 Hld qHle™l AL
B) Rl T 3,000 Hld Hisddll U8R AL
6) Ralat 08 Yol Wi Hsel sl
() T 2,500 @a ML MlHuuAL &l
(3) GuRMEl »ed g 7 GURMALAL Ayl ).
(4)  adsl e A, qAs Al el
(B)  “vldladl B AL AR O [FvdAR AHAAL.
6) AL a8l udl sl cudsll sEl AW A4 A G-
VUL ASIHL dUIR S
2015
wifue
1 wzala-dl AsRas T 6,000.
w3la-l A-sfuas T 5,000.
3 Us%e T 10,0000 i 10% Al q21d syl =l
5 sl WAl T 3,000 i AL wdlell.
7 T 1,500 As3L G-sHi ¢l
9 23] vl T 1,000 i wolRsL T 3,000 Asel ysdl
WYL
11 g5l MLl T 1,100 As3L Ysedl L
14 ol WAl T 3,000 A5 ML, ¥ dd ¥ Gl-sul M3
glyl.
17 T 1,000 oi-suidl 2o IM-MlBameAL ¢l GuLsL.
21 8 HI2 T 800+ s[Maux el 3l -l As du-u
Ors vdligl aull 1wl
23 ol L MIBaH Ysdl .
27 RIS T 5,000 Ha Hisel wuadl R
B
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(M 1A 2uNa [oidi-L sl wERL wedsi di. 31-3-2016+L A%+
s19 AAY, dUR A ¢

widls] UM W (%) v s Wy (%)
ULl €S 7,440 |6~ &l- 1,760
»oRl 4,000 |asHld QUM 1,200
QL 48,000 |wlel 30,000
AHIRSH 800 [stasHid UL 600
SRl 600 [2alelRl 8,000
gl A-4 51 2,400 |As3luas 80
wre-1 e+l 3,000 8921 ARl 720
logefl vl 920 |ARIEIRL 3,200
K| 16,000 U381 24195 240
FA WOLR 1,000 |03 sHAR 240
Yere 400 |wadl 6,000
-sluas 1,800

®) Al sl vl wHR{SAL dl. 29-2-2016+L AA- 6+

Rlasian duR s :

(1) G=sul ™Ra uig ayd -ls wda A5 T 5,200.

(2) 4auld uig o-sui g -8 2ada As T 37,000.

(3) A A5 AsMOL Ild B, ug G54l AL U2 HisdAd
1l ¥ 9,900.

(4) G-sHl M3d AS AsAAA, F-l Y AsHAHL 24Ad Y.
I 1,650.

(5) 6% Ayd s sl Y+ @A T 1,900.

6) uuRisl YA~ o 6% ysaa dHe AU T 1,320
AsHAHL lmde Al
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(N As3 Wl -y Asma-l enasely s vl ik
< 8,300.

(8) dauld uig AvleRlA dudldl W€l 2l A5 T 4,160.

9) 4BS d-l vold 65 vidmidl dvid As 63 Huisl
Seguildltl GuRa 3 3,340.

(10) Asas{l Aoy 6vs Wil dYIR AdlEd AL
I 1,180.

(11) T 6,400l As dud ¥ 2s(Msd sIRQUAT 5034,
As AUl M AsHaHL wde Y.

(12) 6i-% oL s34 A T 1,240 i1 Guka s T 1,160,
AssHol il Yl
dl. 29-2-2016+1 A% 4HRIs-{l wiaeLs T 4,000 2hd3152
saladl edl.

ENGLISH VERSION

Instructions : (1) Write your answers precisely.

(2) Marks will be deducated for irrelevant matter.

1 Answer any 10 out of 20 multiple choice questions 15
given below : (each carries 1.5 marks)
(1) Which accounting system i1s widely used now-a-days ?
(A) Single entry (B) Double entry
(C) Deshinama (D) None of these
(2) What is the limitation of accounting system ?
(A) Shows profitability (B) Shows economic status

(C) Tax planning (D) Stable value of money
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®3)

(4)

(5)

(6)

()

@)
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Which of the following characteristics is not applicable
to economic transaction ?

(A) Cash transaction

(B) Credit transaction

(C) External transaction
(D) Transaction without monetary value

In which type of transactions personal account is

always involved ?
(A) Credit B) Cash
(C) Noneconomic (D) Drawings

Which of the following was state government indirect

tax, prior to GST ?
(A) Custom duty (B) Excise duty
(C) Value Added Tax (D) Service tax

Goods goes out for samples is debited to
account.
(A) Advertisement expense

(B) Goods issued for samples
(C) Purchase

(D) Sales

Which of the following is not recorded in the books of
accounts ?

(A) Cash discount (B) Trade discount

(C) Allowance (D) None of these

When an owner introduces capital in business ?

(A) Increase in Capital - Increase in Liabilities

(B) Increase in Capital - Increase in Assets

(C) Increase in one Liability - Decrease in another Liability

(D) Increase in Capital - Increase in Assets



(9) Nilesh deals with mobile purchase-sales business.
Nilesh has purchased furniture of ¥ 25,000 from

Pankaj Mart, where it will be recorded ?
(A) Purchase book (B) dJournal proper
(C) Bills payable book (D) Cash book

(10) is the other name of purchase book.
(A) Sales book (B) Debit book
(C) Credit book (D) Sales return book

(11) A book prepared to keep a record of cash transactions

18
(A) Purchase book (B) Sales book
(C) Cash book (D) Bills payable book

(12) When bank credits interest in our account, then

(A) Bank balance decreases (B) Bank balance increases
(C) Cash balance decreases (D) Cash balance increases

(13) Wages of ¥ 1,000 paid for the installation of a new
machine 1s debited to wages account. Which accounts
will be affected while rectifying this error ?

(A) Wages A/c and Machine Alc
(B) Omnly Machine Alc

(C) Only Wages Alc

(D) Cash Alc

(14) From the following which transaction is recorded in
journal proper ?
(A) Goods sold by cash.
(B) Assets sold by cash.
(C) Goods purchased on credit.

(D) Assets purchased on credit.
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(15) Which book is called the original book ?
(A) dJournal (B) Ledger

(C) dJournal proper (D) Cash book

(16) How to show the closing balance of account in the

column of particulars ?

(A) Balance carried down (B) Difference of balance

(C) Balance carried forward(D) Difference of amounts

(17) What are the methods to prepare a trial balance ?

(A) Only in a statement form

(B) Only in account form

(C) Any other method

(D) Both (A) and (B)

(18) Goodwill has a balance.
(A) debit (B) credit
(C) Both (A) and (B) (D) None of these

(19) Bank Reconciliation Statement is prepared by

(A) Bank (B) Trader
(C) Both Bank and Trader (D) Auditor

(20) Debit balance as per passbook means

(A) Bank overdraft

(B) Bank balance

(C) Balance on which bank gives interest to a trader

(D) Both (A) and (B)
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2  Answer any four from the following eight questions : 20

(1) Explain the following terms :

(1) Purchases and Sales

(1) Debtors and Creditors

(1) Trade discount and Cash discount
(v) Loss and Gain

(2) From the following transactions write journal entries
in the books of Pranjal :

(1) Introduced X 10,000 cash and commenced business.
(2) Goods of ¥ 5,000 purchased on cash.

(3) Goods of ¥ 8,000 purchased on credit from Rajan.
(4) Goods of ¥ 2,000 given for donation.

(5) Given order to Shivani to dispatch goods of

T 3,000.

(6) Shivani has dispatched the goods as per order.
(7) Paid T 2,500 for life insurance premium.

(3) What is meant by debit note ? Give the specimen of
debit note.

(4) Give the meaning of GST. State the benefits of GST.

(5) "Ledger is a king of books". Explain in detail.

(6) From the following transactions, prepare cash and bank
columnar cash book in the books of Gayatri Bros.
2015
April
1 Opening cash balance ¥ 6,000.

Opening bank balance ¥ 5,000.
3 Goods of ¥ 10,000 sold to Pankaj for cash at
10% trade discount.
5 Goods of ¥ 3,000 purchased for cash from Janki.
7 Cash of ¥ 1,500 is deposited in the bank.
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11
14

21

23
27

Stationery expenses of ¥ 1,000 and salary of
3 3,000 paid by cheque.

I 1,100 paid towards shop rent.

Cheque of T 3,000 received from Yesha, which
is immediately deposited in the bank.

I 1,000 withdrawn from the bank to pay fire
insurance premium.

Furniture of ¥ 800 purchased for household and
cheque for the necessary amount is issued from

the bank account of the business.
Fire insurance premium paid.

Placed an order to Akbarbhai to supply of goods
of ¥ 5,000.

(7) From the given information prepare a trial balance of

Pravin Patel as on 31-3-2016 :

Name of Alc Amt. ) |Name of A/c Amt. )
Opening Stock 7,440 [Bank Loan 1,760
Wages 4,000 |Carriage inward 1,200
Sales 48,000 [Purchase 30,000
Repairing 800 [Carriage Outward 600
Tax 600 [Debtors 8,000
Land-Building 2,400 |Cash balance 80
Plant-Machinery 3,000 |Loose tools 720
Electricity Expenses 920 | Creditors 3,200
Capital 16,000 |Sundry Incomes 240
Office Salary 1,000 | Office Furniture 240
Patent 400 [ Goodwill 6,000
Bank Balance 1,800
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(8) Prepare Bank Reconciliation Statement of Dharamsinh
as on 29-2-2016 :
(1) Cheque deposited into Bank, but not collected
T 5,200.

(2) Cheque drawn but not presented in bank ¥ 37,000.

(3) Cheque received is recorded in cash book but not
sent for deposit in bank ¥ 9,900.

(4) Cheque deposited with bank is dishonoured, which
1s not recorded in cash book, ¥ 1,650.

(5) Interest on investment collected by bank ¥ 1,900.

(6) Demate charges paid by bank ¥ 1,320 as per
instruction of Dharamsinh, which is not recorded
in cash book.

(7) Cash purchase, recorded on payment side of cash

book 1n bank column ¥ 8,300.
(8) Cheque drawn but not given to creditors I 4,160.

(9) Cheque drawn by Dharamsinh from his personal
bank account, debited by bank in business bank
account I 3,340.

(10) Payment side of bank column in cash book is
overcast by ¥ 1,180.

(11) Cheque drawn ¥ 6,400 dishonoured on technical
ground. Dishonour of cheque is not recorded in
cash book.

(12) Interest credited by bank ¥ 1,240 and commission
debited by bank ¥ 1,160, not recorded in cash book.

Passbook of Dharamsinh showed overdraft of

< 4,000 on 29-2-2016.
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2. Economics Content : SSC-10

1 1A 2al 20 eglisedl usl Ugl SiSuRl 10+ Gar ) ¢ 15
(1) 2ulBls xRl Rigid 3 Rl 19ild 3edl dd wd & ?
(@) =8l ®b) o
© AR @ i
) cla Al telnrol 2190 29 Adal [AARIHL sUL U< viAeA

8 7
(@ sl (b) =l
© Akerd durat @ WAL

() Aniel 56 axg-l AU iy AgHl AN W 7
(a) wolld b) (8%
© Ras (d) el - yas
4)  RdHl suL Wil viad llalanas Hewa awug Al ?
(@) Hsydl va b)) islwwAly wia
© waMs e (d) s e
(B5)  MPERUL sl 3l s § ?
(@) X 434 auidr ®b) Y 8dd dMidr
(© H-en (d) =sREIM
6) lAnidl 58 A a8 HuA wgla Al ?
(@) 2as vglt Gb) auel vglt
© Gaued ugld (@ v vgla
(7 %l $4 Yasl sl 34l 81y © 7
(@) 29l €IS U3 (b) ay €1 U
© lsad € (d) ay < s
(8)  oRdMi UlBLs YUl UL adell Haul e ?
(@ 9.4. 1951 (b) 9.4 1991
© 9.4 1947 (d 9.4, 1986
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Q) ABeus wAHl wd AR |3UHE suL vdarelal el ?
(@) R2ux (b) [
(© M [R¥y (d «da

(10) ™l 3l WS+l 653l ol 1A & ?

(@) MLl b Asly
© wWwla @ A&
(11) S idoHi ERER
(a) Monos (b) Polein
(¢ Monopoly (d) s va s

(12) sl HiAddlesdl Ywsdl e 8 7
(@) Udlw b) Sl
© Hula (d) dRa €lieua
(13) (Al sl 2R As<l wsR Yl ?
(@) ARl 2ulls wRad-l ®b) 2usRas 2ulls wRad-l
© cldsidl 20Bls wRadl (@) iud: 2Bs wRadHl

(14) AHd 2elmua-dl dame S8 30 sdl ?

(@) 3 [R¥y Gb) wda
© 35 @ [
(15) BHd-l =213t 51280 YasHl ddl 3R 9 ssa ?
(@) quRl ®b) [AacwL
© #awl (d) Asla-

(16) GNP — 8RRl =

(@ NNP (b) GDP

(© NDP (d CSO
17) . g sA wA quy vl ddly vllaend © 7

(@ @R wd b) o wil

© RA wd (@ AHid wd
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(18) §.u. 2011 acll 2Ridd]l Haor HiRdUl 32dl 25 disl Ruldd

(19)

(20)

N

8 7

(@ 62% b 55%

© 88% d 73%

QAR w2 sYL oo LAt Q&L © 7

(@) SAysd slsd b) yel s
© Gletuyel SRl (d) SRl
MR [A2a quIR AdLs AGY AR oy !

(a) 1947 (b) 1991

© 1995 (d 1951

2 A utdl 8 us-l Ul siduRl 4+ GdR dvll

(1)
@)
®3)
(4)
(5)
(6)
()
@)

Ayl e 2l, Al aael-l seude su.
Aiflawal Y s R3ellu-dl Rgid [oid duendl.

Hiotl FMam A4y i susli-dl vesdl wxondl.

viglogwa-l vilerl sl @vil.

Gewlest el [afay vlel-l aHydl 2l
RS YuRu-l ukign 2920 weudl.

dld2 udlol Rdld sddatefl Anydl 20,
MBS SAUUAL datell AL

ENGLISH VERSION

20

1  Write the answer of any 10 of the following multiple 15

choice questions :

(1) How much theory or information has been introduces

In economic studies
(a) Three b) Two
(0 Four (d) Five
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@)

®3)

(4)

(5)

(6)

()

@)

9)

(10)

In view of the example of Indian texts which books in
the i1deas presented to economics

(a) Shukraniti (b) Manusmruti

(¢0 Kautilyas economics (d) Ramayan

Which of the following is included in a physical object ?

(@) Music (b) Refrigerator

(c) Education (d) Doctor's advise
What kind of food is not considered important in India ?
(a) Revenue food (b) Budget food

(¢) Primary food (d) Fiscal food

What is the slope of the demand line ?

(a) X-Parallel to the axis (b) Y-Parallel to the axis
(c) Debt slope (d) Positive gradient
Which of the following is not a national income

measurement system ?

(a) Income method (b) Sales method
(¢) Production method (d) Cost method
Quantity is what the total supplier is ?

(a) May be less (b) Could be more
(¢ If not (d not more

In which year did the economic reforms in India come
into force ?

(@ AD. 1951 (b) AD. 1991

(© AD. 1947 (d A.D. 1986

Which economist gave the concept of alternative costs

in a systematic form ?

(a) Austrain (b) Pigu

(©0 Addam Smith (d) Marshall

What kind of unemployment is find in India ?
(a) Structured (b) Cyclical

(c) Relative (d) Relative absolute
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(11) What 1s "Ijara" called in English ?

(a) Monos (b) Poleien

(¢ Monopoly (d) None of these
(12) Who is the founder of unitary humanism ?

(a) Gandhij (b) Kautilya

(¢) Marshall (d) Pandit Dindyal

(13) Which of the following is not a type of business cycle ?
(a) Seasonal economic changes
(b) Contigent economic changes
(¢0 Long term economic changes
(d) Partly economic changes
(14) Who recommended the Imbalanced Budget ?

(a) Adam Smith (b) Marshall
(¢) Crains (d) Hikas
(15) What is the change in supply due to price reduction ?
(a) Increased (b) Expansion
(c) Decreased (d) Shrinkage
(16) GNP — Wear beer = )
(a) NNP () GDP
(0 NDP (d CSO
(17) Professor Marshall identifies which costs as a major
costs ?
(a) Fixed costs (b) Total costs
(c) Volotile costs (d) marginal costs

(18) According to the 2021 census what percentage of people
in India are educated
(a) 62% b) 55%
(© 88% d 73%
(19) Sales costs are an important feature of any market ?
(a) Monopolistic-contest”
(b) Complete contest
(¢0 Monopology on both side
(d) Monopoly
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YA :

1

(20) When did India become a member of the world Trade

Organization ?
(a) 1947 (b) 1991
© 1995 (d 1951

Answer any four of the eight questions below :

20

(1) Explain the meaning of wealth and its features.

(2) Explain in detail the principle of trusteeship presented

by Gandhij ?
(3) Explain the rule of demand with the help of sche
and diagram.
(4) Explain the types of budget food ?
(5) Explain the different concepts of production cost
(6) State the adverse effects of economic reforms.
(7) Explain the post independence Indian economy.

(8) Describe the features of a small monopoly.

3. Business Administration : SSC-11

dule

S.

(2) <[ 200alL 20 stgfisedl uadl U SSURL 10 Wasilsil salol 24ML.

() 02 200al 8 usHidl SRl 4+l [Rdd %alel avil.

{2 el 20 oglasedl usdl Ul QS uel 10+ G M) ¢
(1) 2uBls ugf-dl &g sl € & 7

(A) Al (B) -Rusly andr

(C) un (D) *ide-l
(2) duldl sidadiaidl MuEs s © 7

(A) -8\ (B) @«

(C) Goulen (D) QL
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()

4)

)

(6)

(7

(®)

9

(A1 Ugl s Rugiad dl-se Rigidl 20 <l ?

(A) Aysl &AL Rigid

(B) =slA-dad-l Rigid

(C) dluoy [8d-l Rugid

(D) sl Rgid

[agell dlar su-la eudla dlx su-lai Aladly 32d AseL 530 U3

07
(A) 25 % (B) 49 %
(C) 74 % (D) 100 %

elRdl MY osd UH g © 7

(A) 2 65 »ls $[RuL (B) A-za 65 s SR

(C) [Rad os 21 S[Ru1L (D) ols s Sl

Bl USIRL HAGIRHL U 6% 612 (batch) WMIBL AHA8R $3 6.

(A) NEFT (B) RTGS
(C) Core-banking (D) Call-money
qyleld] sl Wdidl sidl olsiR-l Ao AU dd g s8ain ?
(A) S-s51md (B) 2uGe-AR{a
(C) $-4da (D) Ae-6[%a
HBAAL Ju 818d dd QA 20avaHl 21d © 7
(A) S22 Aal (B) &l dal
(C) S-94d (D) 1G2-R{
sl VML HUAS, wus A AAlAs s ¥ Sy O 7
(A) AYSsd AU (B) A3 su-l
(C) A5l +adll (D) Aulsas xulfusl
(10) MRdlY e(leldl s1u8 s4R ARAQHL el ?
(A) 1932 (B) 1956
(C) 1960 (D) 2013
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(11) 20lBls sl i3 dads sia awudl asy ?

(A) Qulsas uulusl (B) efleidl uél
(C) AssRl 3l (D) $u-il
(12) etdui s1gHi sl Su-{lai »vaui © 7
(A) 1912 (B) 1932
(C) 1956 (D) 2013
(13) 4 dwgly azu Al o4 oeud © ?
(A) 8 AL (B) vwii-o(l Alsdl
(C) alus wsl (D) ond-vi(l olelR]

(14) A1 Su-flul A5 Y wxer el 2089 32¢ €1y © 7

(A) 51 % B) 61 %

©) 75 % (D) 100 %
(15) Su-l-l L MRS s ssaiy ?

(A) S[592 Ar8ler (B) usd AR &lar

(C) Ro-R €ler (D) 6l=3 gleR
(16) RA-AR €& A susil w2 g sday ?

(A) ilas (B) zdlelRl

(C) dmieRrl (D) wadsl
(17) 2leit AUl 4 Ass qA- sd vied

(A) Gaules (B) sdia

(C) %925 AuIzl (D) A8s

(18) »is % 229 [alfay wsiR<l axgail 4o da sul UsIR<l g5 58 © 7
(A) U (B) Astudel gsi-l
(C) ewa qeidl gsi1 (D) U Ha
(19) su usiR-l AuRdl dfame wid A1y 8 7
(A) s duiR (B) 2dld duIR
(C) idRs dur (D) wielas duir
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(20) AMLS soelAl Aeel oel AA S sdaMl 2ud © 7

(A) AsLSR (B) Ales
(C) ™Ulus (D) sHadl
2 1A Al 8 uamidl siduel 4+l [aegd odle ML 20

1) sull-l wsid wuAdl.

S-sAHL 2 ] de sdas yHAdl.

AssL H3oll-l el ]l d-ll @Rl [dRdl qsldl.
ogeloit QUIR ved g 7 d-fl Al AxAdl.

dARAEIL QuIRs{l AR qelal.

)
)
)
W) o8 sl ol @3l ganl 3.
)
) Al s oeldl, d-l R Alsdl »udl.
)

Fst b dessil axgdl 2ul.

ENGLISH VERSION

Instructions :
(1) Ansnwer any ten of the following questions. (MCQ)

(2) Answer any four of the following questions.

1 Answer any 10 of the following questions : 15
(1) What is the objective of economic activity ?
(A) Service (B) Monetary return
(C) Love (D) Emotion
(2) Which is the yard stick for the efficiency of business ?
(A) Profit (B) Management
(C) Production (D) Sales

(3) Which of the following principle is not an insurance
principle ?
(A) Principle of utmost good faith
(B) Principle of Indemnity
(C) Principle of Insurable Interest
(D) Principle of Profit
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4

®)

(©6)

(7)

8

©))

How much can foreign investment companies invest
in Indian Insurance Companies ?

A 25 % B 49 %

© 714 % D) 100 %

What is the name of the Central Bank (Monetary
Authority) of India ?

(A) State Bank of India

(B) Central Bank of India

(C) Reserve Bank of India

(D) Bank of India

In which kind of transaction the Central Bank transacts
as per batch ?

(A) NEFT (B) RTGS

(C) CORE-Banking (D) Call-money

The business units allot their works to the outside
institution; that is known as :

(A) E-commerce (B) Out-sourcing

(C) E-mail (D) Net-Banking

What is known as the 'Super Highway' of the
information ?

(A) Internet Service (B) Banking Service

(C) E-commerce (D) Out-sourcing

In which form of the owner, establisher and manager
is only one ?

(A) Joint Enterprise

(B) Government Company

(C) Co-operative Society

(D) Sole Proprietor

(10) When did the Indian Partnership Act come into existence ?

(A 1932 B) 1956
(C) 1960 D) 2013
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(11) Which is considered as the engine of economic growth ?
(A) Sole Proprietorship
(B) Partnership
(C) Co-operative Society
(D) Company
(12) Which Companies Act is in force in India at present ?
(A 1912 B) 1932
(C) 1956 D) 2013
(13) Which of the following is considered the oldest form
of business ?
(A) Public Enterprise (B) Private Enterprise
(C) Global Enterprise (D) Public-Private Partnership
(14) How much is the minimum capital proportion of
government in Government Company ?
A 51 % B 61 %
© 75 % D) 100 %
(15) Who are called the true owners of company ?
(A) Equity Shareholders
(B) Preference Shareholders
(C) Debenture hoders
(D) Bond holders
(16) What are the Debenture hoders of the company

called ?
(A) Owners (B) Debtors
(C) Creditors (D) Promoters

(17) Link between Wholesaler and Customers refers to

(A) Producer (B) Broker
(C) Retail trader (D) Customer
(18) Which is the shop where various types of goods are
available at the same place ?
(A) Franchise (B) Chain stores
(C) Mail order shop (D) Shopping Mall
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(19) By which type of trade, foreigh exchange can be received ?
(A) Export Trade (B) Import Trade
(C) Internal Trade (D) Regional Trade

(20) Who is a king of the market in regard to the social

responsibility ?

(A) Investor (B) Consumer
(C) Owner (D) Employee
2  Answer any four of the following questions : 20

(1) Explain the types of Company.

(2) Give meaning of E-commerce and explain its scope.

(3) Give meaning of co-operative society and explain its
characteristics.

(49) What is meaning of wholesale trade ? Explain its
services.

(5) Compare the three types of public enterprise.

(6) Describe the problems of International Trade.

(7) Show that classification of Warehouses with the help
of chart. Explain Warehouse.

(8) Explain steps of Export procedure.
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